Contractor's A	pplication	for Payme	nt			
Owner:	City of Di	iamondhead	l		r's Project No.:	
Engineer:	Jason Ch	iniche, PE		_	er's Project No.:	17-057-00-08
Contractor:		auling, Inc			actor's Project No.:	
Project:	East Aloh	na Drive Imp	rovements Phase 1			
Contract:	East Aloh	na Drive Imp	rovements Phase 1			
Application	No.:	Retainag	Applicati	on Date:	1/10/2023	_
Application	Period:	From	10/11/2022	to	1/10/2023	_
1 Ori	ginal Cont	ract Price			\$	507,461.07
		y Change Oi	ders		\$	51,713.61
			ine 1 + Line 2)		\$	559,174.68
			nd materials stored	to date		
			Sum Total and Colu		rice Total) \$	559,174.68
	ainage					
а		X \$ 55	59,174.68 Work Co	mpleted =	\$ 27,958	8.73
b		X \$		/aterials =	\$	
			5.a + Line 5.b)		\$	27,958.73
			Line 4 - Line 5.c)		\$	531,215.95
			Line 6 from prior a	oplication)	\$	531,215.95
		this applicat			\$	27,958.73
		12000	ng retainage (Line 3	- Line 4 + L		
been applied covered by p (2) Title to all this Applicati and encumbi such liens, se	on accountrior Applica Work, mate on for Payn rances (exceutity inter ork covered	t to discharge tions for Payi erials and eq nent, will pas ept such as ar est, or encum	Contractor's legitima ment; uipment incorporated s to Owner at time of e covered by a bond abrances); and	ite obligation d in said Wor payment fre acceptable to	Work done under the ns incurred in connect k, or otherwise listed te and clear of all liens to Owner indemnifying ce with the Contract I	ion with the Work in or covered by s, security interests, s Owner against any
Contractor:	-					
Signature:					Date:	
Recommen	ded by En	gineer		Approved	by Owner	
Ву:				By:		
Title:				Title: _		
Date:				Date:		
Approved b	y Funding	Agency				
Ву:				Ву:		
Title:				Title:		
Date:				Date:		

Owner:	City of Diamondhead									Owner's Project No.:		
Engineer:	Jason Chiniche, PE								_	Engineer's Project No.:	2	17-057-00-08
Contractor:										Contractor's Project No.:		
Project:	East Aloha Drive Improvements Phase 1	9.1										
Contract:	East Aloha Drive Improvements Phase 1	e 1										
Application No.:	7 Retainage	Application Period:	From	10/11/22	đ	01/10/23				Applicat	Application Date:	01/10/23
A	8		v	O	<b>B</b> 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		9	1000			¥	
				Contract	Contract Information		Work Co	Work Completed				
ig ten					Unit Price	Value of Bid Item (CXE)	Estimated Quantity Incorporated in	Value of Work Completed to Date (E.X.G)	Value of Work Completed to Date Materials Currently (E X G) Stored (not in G)	Work Completed and Materials Stored to Date (H+I)	% of % of Value of Item B	Balance to Finish (F
No.	Description	2	Item Quantity	Units	(\$)	(5)	the Work	(s)	(\$)	(\$)	(%)	(s)
		· · · · · · · · · · · · · · · · · · ·		10000000000000000000000000000000000000		Original Contract						
1500	Mobilization		1	SI	\$25,400.00	25,400.00	1.00	25,400.00		25,400.00	100%	•
02071C	Removal of Topsoil (4")		394	رح رح	\$10.50	4,137.00	394.00	4,137.00		4,137.00	100%	
02071D	Removal of Excess Material		1959	CY	\$7.25	14,202.75	1,959.00	14,202.75		14,202.75	100%	
02071E	Removal of existing curbing		200	LF	\$10.50	5,250.00	200.00	5,250.00		5,250.00	100%	
02071F	Crushed Rock (610 stone 8")		1933	CY	\$83.00	160,439.00	1,933.00	160,439.00		160,439.00	100%	
02500A	Asphalt Leveling Course		0	Ton	\$91.19		•					
025008	2" Asphalt Base Course		407.67	Ton	\$91.19	37,175.43	407.67	37,175.43		37,175.43	100%	
02500C	2" Asphalt Surface Course		559.97	Ton	\$92.33	51,702.03	559.97	51,702.03		51,702.03	100%	
02500D	Demolition of Pavement All types and thicknesses	sses	2553.6	SY	\$3.11	7,941.70	2,5	7,941.70		7,941.70	100%	
02500E	Milling		09	SY	\$40.00	2,400.00	00.09	2,400.00		2,400.00	100%	
02500F	Thermoplastic Striping (Double Yellow)		3150	LF	\$1.43	4,504.50	3,150.00	4,504.50		4,504.50	100%	
052006	Thermoplastic Striping Crosswalk		0	SF	\$7.15	- Harden Company		· Comment				•
. ноозго	Thermoplastic Striping Stop Bar		84	SF	\$7.15	09'009	80	09'009		09:009	100%	
025001	Street Signs		3	Each	\$417.10	1,251.30	3.00	1,251.30		1,251.30	100%	,
02723 8	PE 15" Pipe		744	LF	\$55.85	41,552.40	744.00	41,552.40		41,552.40	100%	•
02723 C	PE 18" Pipe		85	LF	\$64.00	5,440.00	85.00	5,440.00		5,440.00	100%	
02723 D	Drain Inlets		18	Each	\$2,873.52	51,723.36	18.00	51,723.36		51,723.36	100%	
02723 E	Utility Adjustments		13	Each	\$855.00	11,115.00	13.00	11,115.00		11,115.00	100%	
03310A	Curbing		2704	LF.	\$22.00	59,488.00	2,704.00	59,488.00		59,488.00	100%	
00520	Brick Pavers Pedestrian Crosswalk		90	SY	\$327.00	29,430.00		29,430.00		29,430.00	100%	
02500 G	02500 G Thermoplastic Striping Crosswalk (Deducted)		(880)	SF	\$7.15	(6,292.00)	(880.00)	(6,292.00)		(6,292.00)	100%	
						The second second			_			
					*			A	4	A PAR ACA AT	4 10000	

Contest   Cont	Progre	Progress Estimate - Unit Price Work									Contractor's Application for Payment	lication	or Payment
Labor Check   E.	Owner:	City of Diamondhead									Owner's Project No.:	Į	
Est Alaba Diver Inducements Plasa 1  7 Retainings  Application Period:  7 Retainings  Application Period:  8 Application Period:  1 Contract Information  7 Retainings  9 Application Period:  1 Contract Information  1 Contr	Engineer:										Engineer's Project No	ا ت	17-057-00-08
Start Albeit Diver improvements Phase 1   Start Albeit Diver improvements Phase 1   Start Albeit Diver improvements Phase 1   Start Albeit Diver improvement Phase 1   Start Albeit Diver improvement Phase 1   Start Albeit Diversity Consider in Page 2   Start Albeit Diversity Consider in Page 3   Start Albeit Diversity Consider	Contracto										Contractor's Project N	No.:	
The tail mapper   The tail m	Project:		s Phase 1										
7 Retainings	Contract:		s Phase 1										
Contract Information	Application	-	Application Period:	From	10/11/22	đ	01/10/23				Applicat	ion Date:	01/10/23
Contract information   Mork Completed	A	•		J	Q		4	9			The state of the s	×	
Country   Coun			THE REAL PROPERTY.		Contract	nformation	SHALL SALES	Work C	ompleted				
Thermoplastic Striping Crosswalk   880.00   Sf   77.00   880.00   6.522.00   880.00   6.522.00   100%     Britch Pewers Pedestrian Crosswalk   880.00   Sf   77.00   100%   100	Bid Item			or Constitution of the Con	4		Value of Bid Item (C.X.E.)	Estimated Quantity Incorporated in	Value of Work Completed to Date (E.X.G)	Materials Currently Stored (not in G)	Work Completed and Materials Stored to Date (H+1)		alance to Finish (F - J) (S)
Thermoplastic Striping Crosswalk   880 00   St   7.15   6.292.00   6.292.00   6.292.00   1.008     Brite Paver Protestian Crosswalk   90.00   St   3.25 0   6.292.00   6.294.00.00   1.008     Brite Paver Protestian Crosswalk   90.00   St   3.25 0   1.00   6.294.00.00   1.008     Additional Water Une Expenses   1.00   LS   6.335.30   6.335.30   1.00   6.335.30   1.008     Additional Water Une Expenses   1.00   LS   6.335.30   6.335.30   1.00   6.335.30   1.008     Additional Water Une Expenses   1.00   LS   6.335.30   1.00   6.335.30   1.008     Additional Water Une Expenses   1.00   LS   6.335.30   1.008   6.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.00   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.008   C.335.30   1.008   C.335.30   1.008     Additional Water Une Expenses   1.008   C.335.30   1				transfer and			e Orders				は 日本の	HOLE BELLEVILLE	
Brick Pavers Pedestrian Crosswalk   1000   5Y   327.00   (29.430.00)   (39.00)   (29.430.00)   (10.9430.00)	CO 1	Thermoplastic Striping Crosswalk		880.00	SF	7.15			6,292.00		6,292.00	100%	
Installation of Water Line   1.00   LS   68,516.31   1.00   68,516.3	001	Brick Pavers Pedestrian Crosswalk		(90.00)	S	327.00	(29,430.00)		(29,430.00)		(29,430.00)	100%	
Additional Water Line Expenses 100 IS 6,335.30 ISS 6,335.	00	Installation of Water Line		1.00	LS	68,516.31	68,516.31		68,516.31		68,516.31	100%	
	CO 2	Additional Water Line Expenses			SI	6,335.30	6,335.30	1.00	6,335.30		6,335.30	100%	
									SELVEN DEPOSITE OF		STORY STREET		
							*				Maria of Maria of the		
							•						
											The second secon		
1											· Contraction of the contraction		
1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1											•		
													Chicago and and
									The second second		•		
											Charles of the latest of the l		
1,713.61 \$ 51,713.61 \$ - \$ 51,713.61 100%													
51,713.61 \$ 51,713.61 \$ - \$ 51,713.61 100%													
51,713.61 \$ 51,713.61 \$ - \$ 51,713.61 100%									Manual Principle				
100% S1,713.61 \$ 51,713.61 \$ . \$ 51,713.61 100% S1,713.61 100% S1,													
2001 03 121 03 3 4 03 121 03 4					Cha	nge Order Totals							
7000 6 500 174 50 1000	THE PERSON NAMED IN					Original Contract	opad Change Order						
						Original contract	and change of the				THE REAL PROPERTY.	10000	- The state of the

## FINAL WAIVER OF LIEN

	Dated: December 21, 2022	
Project:  East Aloha Drive Improvements Phase I	Owner: City of Diamondhead	Contractor: Moran Hauling Inc. 10380 Three Rivers Rd. Gulfport, MS 39503
Contract:		Engineer's Project No.:
Sub-Contractor:		
Sub-Contractor's Address: (send Certified Mail, Return Receipt	t Requested)	
	waive all rights and claims for lien on la and to the appurtenances thereunto for the ab	
By Moran Hauling, Inc., Contractor		
	ONTY, MISSISSIPPI, for all labor performer or repair of said structures and appurtenance By:  Title:  Date:  Date:	
CONTRACTOR'S AFFIDAVIT		
	red fully with the provisions and requirem overing this project and that we have received by:  By:  Title:  Date:	ed evidence of compliance from  Ling Fue Contractor
CONTRACTOR'S CERTIFICATION O	DF PAYMENT	
We, Moran Hauling Inc do hereby certify Phase I (Project), for City of Diamondhe	y that payments for all material and labor on ead (Owner), have	East Aloha Drive Improvements
been made in full and that there are no o	By:  Title:  Date:	Contactor  Contactor  Grized Signature
	1-5-	23



## CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 10/3/2022

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must have ADDITIONAL INSURED provisions or be endorsed.

If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on

If	SUB	ROGATION IS WAIVED, subject to entificate does not confer rights to	the the	e terr	ms and conditions of the ficate holder in lieu of su	e policy ch end	, certain pol orsement(s).	icles may re	equire an endorsement.	A Sta	tement on
	DUCEF		1110	331111		CONTAC	T Mary Brumle	ey			
B	(S Ins	surance			Ì		Ext): 228-400-		FAX (A/C, No): 2	28-604	1-8053
76	0 Ho	ward Ave, 2nd Floor			ŀ		s: mary.brum				
Bil	oxi IV	IS 39530			Ì	ADDITED			DING COVERAGE		NAIC#
						INSURFE	A: Brierfield				10993
INIC	IDER				MORAHAU-01	INSURER					
M	ured oran l	Hauling, Inc.				INSURER					
10	380	Three Rivers Road				INSURE					
G	ultopr	t MS 39503				INSURE	10-00				
						INSURE					
-	WED	AGES CER	TIFIC	ΔTE	NUMBER: 2100704987				REVISION NUMBER:		
I	HIS IS	S TO CERTIFY THAT THE POLICIES TED. NOTWITHSTANDING ANY RE FICATE MAY BE ISSUED OR MAY F ISIONS AND CONDITIONS OF SUCH I	OF II QUIR PERT	NSUR EMEN AIN, T CIES.	TANCE LISTED BELOW HAY NT, TERM OR CONDITION THE INSURANCE AFFORDI LIMITS SHOWN MAY HAVE	ED BY	THE POLICIES EDUCED BY P	DESCRIBED PAID CLAIMS.	OCCUMENT WITH RESPEC	, , , ,	WILL LIGHT
INS	R	TYPE OF INSURANCE	ADDL INSD	SUBR WVD	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	(MM/DD/YYYY)	LIMIT	8	
A	X	COMMERCIAL GENERAL LIABILITY			CPP10005081803		8/1/2022	8/1/2023	EACH OCCURRENCE DAMAGE TO RENTED	\$ 1,000	
		CLAIMS-MADE X OCCUR					1		PREMISES (Ea occurrence)	\$ 100,0	000
									MED EXP (Any one person)	\$ 5,000	-/
									PERSONAL & ADV INJURY	\$1,000	
	GEN	N'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGATE	\$ 2,000	,000
		POLICY X PRO-							PRODUCTS - COMP/OP AGG	\$ 2,000	,000
		OTHER:							COMPRIED ORIGINAL	\$	
A	AUT	OMOBILE LIABILITY			CA10005081903		8/1/2022	8/1/2023	COMBINED SINGLE LIMIT (Ea accident)	\$1,000	0,000
	X	ANY AUTO							BODILY INJURY (Per person)	\$	
		OWNED SCHEDULED AUTOS							BODILY INJURY (Per accident)		
	X	HIRED X NON-OWNED AUTOS ONLY							PROPERTY DAMAGE (Per accident)	\$	
										\$	
A	X	UMBRELLA LIAB X OCCUR			UMB10005082003		8/1/2022	8/1/2023	EACH OCCURRENCE	\$ 5,000	0,000
		EXCESS LIAB CLAIMS-MADE							AGGREGATE	\$ 5,000	0,000
		DED X RETENTION\$ 10,000							IDED 1. LOTU	\$	
А		RKERS COMPENSATION			WC0100073562		11/1/2021	11/1/2022	X PER X OTH-	USL	
	ANY	PROPRIETOR/PARTNER/EXECUTIVE ICER/MEMBER EXCLUDED?	N/A						E.L. EACH ACCIDENT	\$ 1,000	
	(Mar	ndatory in NH)							E.L. DISEASE - EA EMPLOYEE		
	If yes	s, describe under CRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT	\$ 1,000	0,000
I T	nis ce	rion of operations / Locations / vehici rtificate of insurance neither affirmat ad Officers - Donald Moran III, Gayn	ively	nor n	negatively amends, extend	ile, may be s, or alte	e attached if more ers the covera	s space is requir nge afforded i	ed) by the policies shown abo	ve.	
L											
C	ERTIF	FICATE HOLDER				CANO	CELLATION				
		Moran Hauling Inc 10380 Three Rivers Rd Gulfport MS 39503				SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.  AUTHORIZED REPRESENTATIVE					
1						First T. Maser					



Consent Of Surety to Final	Payment	Bond # 5957035
PROJECT: (Name and address)	ARCHITECT'S PROJECT NUMBER:	OWNER: [
East Aloha Drive Improvements Phase 1, City of Diamondhead,	CONTRACT FOR: Construction	ARCHITECT: [
Hancock County, Mississippi		CONTRACTOR: [
TO OWNER: (Name and address) City of Diamondhead	CONTRACT DATED:	SURETY: [
5000 Diamondhead Circle		OTHER: [
Diamondhead, MS 39525		
In accordance with the provisions of the Conti (Insert name and address of Surety) Old Republic Surety Company	ract between the Owner and the Contractor as indicated	l above, the
P.O. Box 1635		
Milwaukee, WI 53201		, SURETY,
on bond of (Insert name and address of Contractor) Moran Hauling, Inc. 10380 Three Rivers Road Gulfport, MS 39503		
hereby approves of the final payment to the Co of any of its obligations to (Insert name and address of Owner)	ontractor, and agrees that final payment to the Contract	, CONTRACTOR, tor shall not relieve the Surety
City of Diamondhead 5000 Diamondhead Circle Diamondhead, MS 39525		
as set forth in said Surety's bond.		, OWNER,
IN WITNESS WHEREOF, the Surety has her (Insert in writing the month followed by the m	cunto set its hand on this date: January 5th, 2023 umeric date and year.)	3
	Old Republic Surety Cor	npany
	Surgery).	Her
	(Signature of authorized re	epresentative)
Altest: Michelle Sreen	Lisa R. Butler, Attorney	-in-Fact
(Seal):	(Printed name and title)	



## POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That OLD REPUBLIC SURETY COMPANY, a Wisconsin stock insurance corporation, does make, constitute and APPOINT: TROY WAGENER, JIM E. BRASHIER, TEB JONES, DAVID FORTENBERRY, MARY NORVAL, KIM BARHUM, F. ROSS BELL, KATHLEEN B. SCARBOROUGH, DEWEY B. MASON, SUSAN M. SKRMETTA,

JOSEPH R. BEATTIE, LISA R. BUTLER, PATRICK T. MASON, CHRIS BOONE, SHARON TUTEN, CHARLOTTE A. RAMSEY, LESSIE R. ANDERSON, DEBBIE DUNAWAY, JAMES ELEY BRASHIER Of GULFPORT. MS

its true and lawful Attorney(s)-in-Fact, with full power and authority for and on behalf of the company as surety, to execute and deliver and affix the seal of the company thereto (if a seal is required), bonds, undertakings, recognizances or other written obligations in the nature thereof, (other than ball bonds, bank depository bonds, mortgage deficiency bonds, mortgage guaranty bonds, guarantees of installment paper and note guaranty bonds, self-insurance workers compensation bonds guaranteeing payment of benefits, or black lung bonds), as follows:

## ALL WRITTEN INSTRUMENTS

and to bind OLD REPUBLIC SURETY COMPANY thereby, and all of the acts of said Attorneys-in-Fact, pursuant to these presents, are ratified and confirmed. This appointment is made under and by authority of the board of directors at a special meeting held on February 18, 1982.

This Power of Attorney is signed and sealed by facsimile under and by the authority of the following resolutions adopted by the board of directors of the OLD REPUBLIC SURETY COMPANY on February 18,1982.

RESOLVED that, the president, any vice-president or assistant vice president, in conjunction with the secretary or any assistant secretary, may appoint attorneys-in-fact or agents with authority as defined or limited in the instrument evidencing the appointment in each case, for and on behalf of the company to execute and deliver and affix the seal of the company to bonds, undertakings, recognizances, and suretyship obligations of all kinds; and said officers may remove any such attorney-in-fact or agent and revoke any Power of Attorney previously granted to such person.

RESOLVED FURTHER, that any bond, undertaking, recognizance, or suretyship obligation shall be valid and binding upon the Company

- (i) when signed by the president, any vice president or assistant vice president, and attested and sealed (if a seal be required) by any secretary or assistant secretary; or
- when signed by the president, any vice president or assistant vice president, secretary or assistant secretary, and countersigned and sealed (if a seal be

required) by a duly authorized attorney-in-fact or agent; of	or			
(iii) when duly executed and sealed (if a seal be required)		fact or agents	pursuant to and within the limi	ts of the authority
evidenced by the Power of Attorney issued by the compa				
RESOLVED FURTHER that the signature of any authorized of certification thereof authorizing the execution and delivery of a signature and seal when so used shall have the same force an	ny bond, undertaking, recogniz	ance, or othe	affixed by facsimile to any Por r suretyship obligations of the co	wer of Attorney or ompany; and such
IN WITNESS WHEREOF, OLD REPUBLIC SURETY COMP.	ANY has caused these presen	ts to be signe	d by its proper officer, and its co	rporate seal to be
affixed this 23rd day of November			•	
	WHITE SURE	C	LD REPUBLIC SURETY CO	MPANY
Laung Haffrer Assisiant Secreta	SEAL SEAL		Au Mice	
STATE OF WISCONSIN, COUNTY OF WAUKESHA - SS	The same of the sa		rresident	
On this day of November	, 2022, personally came	before me, _	Alan Pavlic	
			cers of the OLD REPUBLIC SUI	
who executed the above instrument, and they each acknowledged				
they are the said officers of the corporation aforesaid, and that the s	seal affixed to the above instrum	nent is the se	al of the corporation, and that sa	aid corporate seal
and their signatures as such officers were duly affixed and subscribe	ad to the said instrument by the	authority of t	ne board of directors of said corp	ooration.
	OTAP,	_Ko	Hurzh R. Pears	on
		My Commis	sion Expires: September	28 2026
CERTIFICATE	(Ex	piration of not	ary's commission does not invalid	
I, the undersigned, assistant secretary of the OLD REPUBLIC				
Power of Attorney remains in full force and has not been revoked				
Attorney, are now in force.				
MALIC SURE ALIE				
COMPORATE CE		5th	January	2023
87-0829 SEAL Signed and sealed at	t the City of Brookfield, WI this _	Otti	_ day of	_,
1981			V. Oldeland	1 -
ORSC 22262 (3-06)			- Haus & Asing ru	$\mathcal{N}_{}$
TO SEE STATE OF THE PROPERTY O			· Assistant Secretal/ [/	